3£§§%ﬁﬁ$

(double pipe heat
exchanger)




i HAFYpE
lf?‘;‘ﬁfﬁiﬁg
s % BT A
e B L FE R £ T HF
- INE R & gk 1o
2P NE L Band
B % RUEE s







i%iﬁ%iﬁwﬁﬁ

=E F 3 nE 3\
52 n % 3

LIRS B



RV E BT BT

ERE e hRE
RUE R nFATE
-/é‘&t;% l/r/$$
Fx - B-Rad- -

s BRI E



> Ihp— /‘-' /h
g o ETHE-mApRT O
P - e 1

Uy, = n;h C, (Thi _Tho)



4 i ETH-mAPRT (2

R i E: X Eda 1

(; = r.nc Cpc (Tco _Tci)



o T H-mApRT (3
n REBRR LT (FREFL)




i W TH-3 RO

nEHF N R E

qh :r}ls ﬁ’s



i wE TH-73 AR

b R

0. = r}'c Cpc (Tco _Tci)



g ETE-F ARG
s R EERFETT(TREFL)

qh :qc

nas ﬁ“s . r;k CpC (Tco _Tci)



IR




ii?ﬁﬁﬁ%$¢%%

T L

« R T

nAEE %

nif F N HB G )

n 7 i & B @A F g

13



i g e o B

B AR Y R e
X AR F £

14



i WG e o B 3 = fI¥ -1
= iﬁ-’?};ﬁ weor v PR A

S2TEREERE O AT, =T . -T.

Cl

-ATER O OAT, =T, T

cO

15



i M o B P -2
o $Hic T 30 R

_ AT -AT, AT, -AT,

ATln - AT1 AT2
In AT In AT
2 1
i T )Mo —Teo) - (Tho = Teo )~ (T = T )
= T T T T
hi~ 'Ci ho 'CO
In Tho Teo n Thi~Tei



3 A EEE Y iR b
Lip F o5

17



i \\’ /”Lﬁv p’; —1
s BAFERAFO>NCFEFRE

18



i e o B TP -2

s JETISE AR

AT, —AT, AT, —AT,

AT = AT, — AT
n A—T; In ATi
_ (Tho TCI ) (Thl —Teo ) _ (Thi _TCO) (Tho Tci)
Tho~Tci Thi~Teo
d Th?‘Tcg d Thcl) —Tei



2 a9 I

20



A A RLBF ORI F K
o

21



2L F 1

i 5 b

o /F}/F’ 140, 5kg/smm~' AR ’? A 1]
B R RRLIr BB E DN
AR 537K 3P g & 5 350K ; 4 4r
K120, Dkg/serin F i » L 3 R > }i
xR 5 280K 0 RibFrokdie eng
R0 7
(% # Cp=2090J/kg—K, -kCp=4177]/kg—K)

22



§ VIS
r.nh Cph(Thi _Tho): r;k Cpc(TCO _TCi)

0. 5x2090x (375—350)
=0. 201x4177x (T.-280)

~T.=311K

23



LTS A 42

B /EE/F‘/E" 120, 5kg/Sm/n % L__-ﬁ ‘% 5\‘#‘ i}ﬁ'?};
¢ SRR N’ﬁaﬁﬁiﬁgmmin
370K » 3R e & 5 300K 5 /4 #r-k12(0.5
kg/serinFig > AR HigE g &
280K Agrk v e & 5 311K 3
ok i RS S N RU RS
250W/m-K » KF & 5 Su2ehp B &b A 2

(B % % Cp=2090J/kg—X , -kCp=4177]/kg-K)

24



™

i .’;i ‘?’ /n'-ﬁ‘" f}lj'&gﬁ”

AT,=T,-T. =375-311=64K
AT,=T,.-T,.=350-280=70K

ATl AT2

ATZ

g= Uvo

64-/0
26125=250x A, x 847

70

A,=1.56m?

25



i WE g B2 B )

n B 10, 0kg/sein F R B A EIEE
PRORREEF B EIFERFR S
370K » 3R e & 5 350K 5 4 2r k120, 5
kg/sein FE > #IAFERH HE iR
2 280K > A grokdicenE B 5311K &5
ekt 1B R R N R R RCE e
O50W/mK » £F & 5 Sm2ehp F 4 5 A 2

(B % % Cp=2090J/kg-X , -kCp=4177]/kg-K)

26



™

o B B AL

AT,=T, -T..=350-311=39K

AT, —AT

_ 1 2
q=UyA, AT
AT,
26125 =250x A, x 9|?]§359

39
A,=1.66m?

27



